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MPM2D F@I) 20 Linear Systems — Substitution

Recall: What does “solving” a linear system mean?

= Find Pol (:—-_ Point o Tatersectiom )

If the volume of a sphere is given by the equation V = —n’r , find the volume of a sphere with
2em. Y= 2 —3 gubCtituts Wi A

V=2 (2 = 32m:8 _ 24T _ 7 = (2. T5cm

4 5

Re(rarra\__av,)e (@
Ty

A :':.5
-
=5 =2

Graphing doesn't always give an accurate answer, and it can take a long time to graph.

Substituta o, —an algebraic method of solving a linear system by
S\A\?S’ﬁ‘l‘m"?{"f}» one variable from one equation into the other equation.

Example 1 Solve Using the Method of Substitution
Thelinesy = —x + B and x ~ y = 4 intersect at right angles. Find the coordmates of the point

- of intersection. > 2,1 4 ‘f"E"
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24 = 1z
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@y =—~(6)+3 |
Ly= 2 s.opol (6,2)

Example 2 Solve Using the Method of Substitution
Find the solution to the linear system
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3x-y -7-@




;:L:P\r Example 3 Solve Using the Method of Substitution
Where do the lines 2x — y = 4 and 4x + y = 9 intersect?
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20 ~G+4x = 4 y = 52
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Example 4 Stephanie has five more fish in her aguarium than Brett has. The two have a total of )
31 fish. How many fish does Stephanie have? How many fish does Brett have? [-\- (
S — B + 5 — @ S: i ”—P ‘Ffsl/\ S‘i—t’i')l/\f/\f\EE l/\lflﬁ
Bt S = 3 __:,@ B= & Brett has

sub S= B45 iwro@
B+ (B+5) = 3\ |
( ® 5= 12

= 13+5%
2B + 5 = 3\ c- 18
2= 23l—5 |
2p = 26 Vot
=_3:— '5?— o Stephunie hus 6 Lol cand
SoB= Rrett has 3 Fish, { 
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